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QUESTION 1

Examine the following AOS-CX switch configuration: 

Which statement correctly describes what is allowed for traffic entering interface 1/1/3? 

A. IP traffic from 10.1.11.0/24 is allowed to access 10.1.110.0/24 

B. IP traffic from 10.0.11.0/24 is allowed to access 10.1.12.0/24 

C. Traffic from 10.0.12.0/24 will generate a log record when accessing 10.0.11.0/24 

D. IP traffic from 10.1.12.0/24 is allowed to access 172.0.1.0/23 

Correct Answer: B 

People seem to be confused by inverted mask/wildcard masks. They would be correct for Cisco switches, but AOS-CX
does NOT use wildcard masks; "AOX-CX switches do not support wildcard masks - only prefixes or subnet masks -
when created ACEs." 

Cisco: 255.0.255.0 = xx.123.xx.123 AOS-CX: 255.0.255.0 = 123.xx.123.xx 

 

QUESTION 2

In AOS-CX switching, what determines when a frame is forwarded by the switch between the ingress and the egress
port? 

A. Egress port 

B. Ingress port 

C. VSX switch tables 

D. Fabric Load Balancer 

Correct Answer: B 

 

QUESTION 3
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What is correct regarding multicasting and AOS-CX switches? 

A. IGMP snooping is disabled, by default, on Layer-2 VLAN interfaces 

B. IGMP query functions are enabled, by default, on Layer-2 VLAN interfaces 

C. IGMP snooping is enabled, by default, on Layer-3 VLAN interfaces 

D. IGMP-enabled AOS-CX switches flood unknown multicast destinations 

Correct Answer: A 

 

QUESTION 4

An administrator is managing a network comprised of AOS-CX switches deployed at the aggregation layer. The
switches are paired in a VSX stack and run the OSPF routing protocol. The administrator is concerned about how long it
takes for OSPF to converge when one of the VSX switches has to reboot. 

What should the administrator to do speed up the OSPF convergence of the switch that is rebooting? 

A. Change the VSXISL link from an OSPF broadcast link point-to-point. 

B. Implement graceful restart on the VSX switches and their neighboring OSPF switches. 

C. Decrease the VSX initial synchronization timer on the two VSX switches. 

D. Define non-backbone areas on the VSX switches as totally stubby areas. 

Correct Answer: B 

 

QUESTION 5

When an AOS-CX switch uses a temporary copy of the Configuration State database, what kind of analysis does
NetEdit perform to ensure that the configuration is correct? 

A. Syntax validation 

B. Semantic validation 

C. Conformance validation 

D. Change validation 

Correct Answer: D 
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